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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Millennium Development Goals are to be achieved by :

(A) 2007 (B) 2010 (C) 2015 (D) 2025

In an area with fluoride rich water, the defluoridation of water is which level of
prevention ?

(A) Primary (B) Secondary (C) Tertiary (D) Primordial

The number of years of healthy life lost due to all causes whether from premature
mortality or from disability is called :

(A) Quality Adjusted Life Years (QALY)
(B) Disability Adjusted Life Years (DALY)
(C) Sullivan’s Index

(D) Standardised Mortality Ratio (SMR)

WHO target for expenditure of each country’s GNP on health care to achieve the goal
of Health For All is :

(A) 7% (B) 5% ©C) 3% (D) 10%

Any loss or abnormality of psychological, physiological or anatomical structure or
function is :

(A) Impairment (B) Disability
(C) Handicap (D) None of the above

Berkesonian bias refers to :

(A) Interviewer bias

(B) Systematic sampling

(C) Systematic differences in characteristics between cases and controls

(D) Different rates of admission to hospitals for people with different diseases
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wuifees sitafe ud amaifaes e
EASRHEN

TH AT H T=E (50) Tg-Tahetid U § 1 Uedsh U % <X (2) SR 1 WmTUET F T
e |

TeEfee faehr el I el qeh U fRan Sar & ?
(A) 2007 (B) 2010 (C) 2015 (D) 2025

T &r o Yz QL U1 B, 981 Sfel shl To[ge-Had i o fIu Jshem w1 shi=HE1 Tl
ST BT ?

(A)  TafHeR (UEERT) (B) WreafHe (Hwve)
(C) TH (W) (D) 3 (UEHRfEaw)

Y Rl S Hege gog stean staar +F wiinfad 8, § @y STed o W aul i 3
Tl ?

(A)  FeIferct Tesiftee TR® 39 (99,0041, )

(B) feuufaferdt Tesifiee aE® TS (1L UA.AR.)

(C) HETaM'S sudad

(D) I e ST (TH.TH.3R.)

forga T@Eed WS (T, TA.31.) g ‘Hereh folT Taeed’ &1 Iqaifey o faw gk <o &1
STEA.TY. 1 fohc1 Ui TaTeed W e T 1 @18d W T g 7
(A) 7% B) 5% Q) 3% (D) 10%

T YRR o HAIaNS, IR e 3Tiffier TT=AT 1 e F1 aifd sreer fagmradar &
T FEd € 2

(A) 3TEHA (SFUIHL) (B) Towaimar (femufafered)
(C) TeHal (FUETHRT) (D) <WREd H § hig I
SHGII JaTE foraaFT SR Heha ear g 2

(A) WETRNT 1 qaiTR

(B) A T

(C) UfTET iR feiror < s Fafid ST o aer
(D) fafw=t TN | ifed <afwal sl sreqdra § el A o fafis X
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10.

11.

12.

13.

14.

While analysing a data, allocation into similar groups is done to ensure :
(A) Comparability (B) Accuracy (C) Validity (D) Sensitivity

If the prevalence is very low as compared to the incidence for a disease, it implies :
(A) Disease is very fatal and/or easily curable

(B) Disease is non fatal

(C) Calculation of prevalence and incidence is wrong

(D) Nothing can be said, as they are independent

Mid year population refers to population as on :
(A) 1% January (B) 315t March
(C) 15t July (D) 315t December

All are continuous variables except :
(A) Serum Cholesterol (B) Blood pressure
(C) Height (D) Rash in measles

WHO's catch-up, keep-up and follow-up vaccination strategy has been developed for
diminution of :

(A) Measles (B) Chickenpox (C) Tuberculosis (D) Diphtheria

Regarding influenza all are true except :

(A) Antigenic shift occurs due to genetic reassortment

(B) Influenza A is capable of antigenic shift
(C) Antigenic drift occurs in all the three types
(D) Influenza B is also capable of genetic assortment

Prevalence of TB infection in a community is estimated by :
(A) Sputum microscopy (B) Tuberculin test
(C) Chest x-ray (D) Sputum culture

Following statement is not true about Japanese Encephalitis :
(A) Pigs are considered as “amplifiers”

(B) Cattle and buffaloes are considered as “amplifiers”

(C) Man is an incidental “dead-end host”

(D) Initial viral replication occurs in local and regional lymph nodes
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11.

12.

13.

14.
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T, A 7 R o1, ‘F T o1’ IR Wil oTd’ SRR T WO ITd o foasR fRE TR
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(A) @ GIREEREICE] (C) dufee (D) fewafn

Frafafed 5 § saequst & fae siFen 91 771 82

(A) IfasT ufteds AR e TeRor % HRoT g ¥
(B) TS H Ufaei=1 ufted™ @ 7 err ¥

(C) <1 wehRi H U1 aTe B §

(D) TYGIUS 5T H ¥ STafeneh a7 Teheor 1 eren &

Y THe™ o qufes SHAU 61 Y= &1 STAH fhed e S & 2
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(C) BT H TIE-Y (D) T HaET

ST fear @R & fou frafafed § 9 S weF ggt 75 72
(A) 3T 3H UMY & ‘yaedss’ A 9§ |

(B) T AR Gi T 59 I T ‘YR’ AT ST T |

(C) wa 1 HanTaer  Afvad BR &1 Uret’ 7

(D) IRfues faum 1 ufaspfaai Tt ud afm fare e § e )
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15. Following is not true about Insulin resistance syndrome (Syndrome X) :
(A) Association of hyperglycemia, hyperinsulinemia dislipedemia and hypertension
(B) Seen in obese patients with type 2 diabetes
(C) Insulin resistance is not due to genetic defect

(D) High levels of insulin stimulate endothelial proliferation to initiate atherosclerosis

16. As per 2001 census following is true about literacy rate :
(A) Ability to read and write with understanding in any language
(B) It relates to population above 6 years of age
(C) Ability to write signature
(D) Ability to read only

17. Under NRHM what is not correct about ASHA ?
(A) ASHA must be the resident of the village
(B) There should be adequate representation from disadvantaged population groups
(C) She will promote construction of household toilets under total sanitation campaign

(D) The target is to select and train at least 30 percent in the first year

18.  Which of the following dietary sources have maximum content of linoleic acid ?
(A) Corn oil (B) Soyabean oil
(C) Safflower oil (D) Sunflower oil

19. Mental deterioration may occur due to deficiency of :
(A) Vitamin D (B) Vitamin C (C) Pyridoxine (D) Thiamine

20. The type of government where country is ruled by a family group is known as :
(A) Monarchy (B) Oligarchy (C) Autocracy (D) Oligopoly

21. Which of the following statement is correct ?
(A) 0.5 gm chlorine tablet is sufficient to disinfect 20 litres of water
(B) 1.0 gm chlorine tablet is sufficient to disinfect 20 litres of water
(C) 0.5 gm chlorine tablet is sufficient to disinfect 10 litres of water

(D) 0.5 gm chlorine tablet is sufficient to disinfect 1 litre of water

22. Inanormal curve, the proportion of observations that lie within three standard deviation
from the mean is :

(A) 95.45% (B) 68.27% (C) 97.73% (D) 99.73%
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15.

16.

17.

18.

19.

20.

21.

22.

Tyfor ifsrdy foagm (fargm wed) o o H feafafed 5 9 i 9e1 721 8 2

(A) TEITAREIHA, BRR Tge i, feaamcieifian sk 3=1 Wham § gvaf-ed |

(B) T wfeh fE 2/eW 2 AYWR ], I T STl ¢ |

(C) wgfer RSRET s17afime 9 & R0 =T B

(D) TERERITEY ol IR & & fau sgfaq &1 gfg 9 sveifafaaa v ifrem sk sod
S TSRS & BT |

2001 F1 STAHEAT % SFTIR FWeRal & aR H fafafad ¥ 9 s 9et €2
(A) ToRET 7 9 o1 wHereRt foren @iR ge

(B) T TSR 6 9N F1 Y AT 9 §

(C) TEIER & FT AR

(D) HET9EH &1 &/Hdl

‘TR TE.TA, | & AT e’ R W Wl A § 2

(A) ‘sTrem’ ol TET TG FT aifaeT g =R

(B) AN STEET o HHBI ol g ufafferca fean s =nfew

(C) % 90l §E ST o STaid =] Sieneral < 0T sl dicefed ST
(D) Jeom a¥ ¥ 30 ufaerd o ==9 IR ufitemn & & a8 T

frfafad smerR-Erl o 9 T tfae 1 AEn frad siftrewan e §?
(A) HHE W1 (B) HEET =
(C) T &l dd (D) YISHET &

T eterfa ffafad o 9 gt 1 & HRoT A%t 72
(A) T €t (B) foerfa 7 (C) uEreElfaEs (D) oA

59 <o H foret aftaR 9wz o1 T3 31 8, a6 &1 WehR ffated o 9 fod fem o amT 82
(A) TSI (B) AU (C) Tz wmEA (D) STeUITYHR

Frafafaa § 9 s w5t 872

(A) 0.5 T 7T Faifid feferan 20 fetet St ol e UMUE | qh 3 o fag 7
(B) 1.0 T %7 Faifid feferan 20 fetet St ohl HshHeh UMUel | qeh 3 o faq o
(C) 0.5 T %7 Faifid feferan 10 fetet St okl e UMUE | qh 3 o fag 7
(D) 0.5 ¥ %7 Faifid feferan war feret S =l Hhweh WISl § Hb & o foae o

=

Ly
Ly
Ly
LR

= — =

forET TR a6 Y@ |, Ye10T & foRa oTU AT ¥ T 1evets fefauyH & st9 saftea ¥
(A) 95.45% (B) 68.27% (C) 97.73% (D) 99.73%
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23.

24.

25.

26.

27.

28.

Question Numbers 23 to 30 consist of two paired statements one labelled Assertion (A)
and the other labelled Reason (R). You have to examine the two statements carefully
and decide if the Assertion (A) and the Reason (R) are individually true and whether
the Reason is a correct explanation of the Assertion. Select your answers using the
code given below and mark your answer accordingly.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : X-rays are highly penetrating.
Reason (R) : They have short wave length.

Assertion (A) : Breast-fed babies as compared to artificially fed babies have lower
incidence of diarrhoea.

Reason (R) : Breast milk does not contain antimicrobial factors such as
macrophages, lymphocytes, secretory IgA and lysozome.

Assertion (A) : Sex ratio in India has not been generally adverse to women.

Reason (R) : There has been a decline in sex ratio (females per 1000 males) in India
from 1951 to 1991.

Assertion (A) : In Vitamin A deficiency, Bitot’s spots appear even before night
blindness.

Reason (R) : Night blindness due to Vitamin A deficiency occurs because of
impaired dark adaptation.

Assertion (A) : Asbestos is of two types - serpentine or chrysolite variety and the
amphibole type.

Reason (R) : Mesothelioma has been shown to have a strong association with the
crocidolite variety of asbestos.

Assertion (A) : In case of grouped data, range indicates two extreme values.

Reason (R) : Range is a good measure of dispersion of values.
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23.

24.

25.

26.

27.

28.

e : TR A 23 ¥ 30 T H 3 THA & Th §& HYT (A) T SHU FHRUT (R) T | 3T 37
SFi TI®el 1 FEYE g TEEH T § IR 9 F1 § fh, € FeF (4) T FRO (R)
ST Wel & IR F HRU (R) TTHAT (A) T Tl TR g1 =19 53 T *rei 1
TAIAT T e T I A qAT A1 FR-IRAh1 H W degey fafaa ol

FIT :

(A) (A) @1 (R) THI TET € 3R (R), (A) 1 T TETHI T |

(B) (A) T (R) SHI W1 & TG (R), (A) T Tl THE 1IN e T |
(C) (A) T E 9g (R) T g |

(D) (A) TTE@ § 9 (R) T €

gEHRIT (A) :
T (R) :

gEHRIT (A) :

T (R) :

FEHIT (A) :
FRUT (R) :

FEHIT (A) :
Il (R) :

FEHIT (A) :

dRUT (R) :

gahdT (A) :
Il (R) :
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29. Assertion (A) : Under NAMP, a surveillance worker visits each house in his area once
a fortnight to enquire about fever cases.

Reason (R) : If the blood film is reported positive for malaria parasites, the
surveillance worker returns to the patient to administer radical
treatment for malaria.

30. Assertion (A) : The anganwadi worker is the community’s link between the health
services and services for young children.

Reason (R) : The population served by the anganwadi is children under 3 years of
age.

SEQUENCING TYPE
31. The following steps may be involved in chlorination of wells :
(i) Dissolve bleaching powder in water
(ii) TPut chlorine solution in well
(iii) Find out the amount of water in a well
(iv) Find out the amount of bleaching powder required
(A) (), (iii), (iv), (i) (B) (i), (i), (it), (iv)
Q) (i), (it), (iv), (1) (D) (i), (iv), (i), (i)

32. Identify correct ascending order of population of Indian States as per 2001 census :
(A) Maharashtra, West Bengal, Bihar, Uttar Pradesh
(B) West Bengal, Bihar, Maharashtra, Uttar Pradesh
(C) West Bengal, Maharashtra, Bihar, Uttar Pradesh
(D) West Bengal, Maharashtra, Uttar Pradesh, Bihar

33. Identify the following correct chronological order about nomenclatures used for control/
eradication of malaria at the national level :

(A) NAMP, NMEP, MAP, NMCP
(B) NMCP, NMEP, NAMP, MAP
(C) NMCP, NAMP, NMEP, MAP
(D) NMCP, NMEP, MAP, NAMP

D —8107 10



29. gEHIT (A): TATTATL o SFd HAid IR Toh TEATS H 3T & o & R H g@R
% THE I S % fd T R 21avd S S

FIT (R) : Ife soTe-freq Haiftan TsTeT & 9T hrrHs fareic §, 9 Teiaid aeht
AT ! GAfE 1 U IUER &4 & fau 396 99 Redr 81

30. GEHYT (A):  ANHATE! K fRET THSE F T qaAl SR B =] 1 HalS o 514
F1 FHeT 7

FIRUT (R) : T Y F7 3T o d=il &1 STERT F1 Gl SHATET T §

31. el & TRl (FAfAsH) | ffafed o emd €
() St H forsrer <ol 1 T
(i) FHT H IR H1 I ST |
(iif) HT H ST FT AET T 901 AT
(iv) @ifed foiser <ol F1 AEN 1 91 R
(A) (i), (iii), (iv), (i) ®B) (i), (i), (i1), (iv)
(©) (i), (i), (iv), (i) (D) (i), (iv), (i), (ii)

32. 2001 F1 SIUAT &% MR W YT % [ § @] o SATIR Tel 3IRET %9 § fau
(A) R, ufeer s, faer, TR e
(B) U= 9, foRR, WERIY, WX U<¥
(C) uf¥=rt e, Heny, foeR, =R uew
(D) Uf¥=FY S, HERIY, TR IR, foRR

33. TE TR W AR o 7101/ o HEHHI o ATHEHLT Sl HOHHANER 9 § {0
(A) TWUTHY, TR, T, THTEEL,
(B) TATHELYL, T.UAITY, TITUATT, TH.U Y,
(C) TWTHFLYT, T.CUA, TLUHETT, TH.U .
(D) TWTHFLT, TI.UHIT, TR, O Ta.,
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34. The following are the manifestations of Vitamin A deficiency :
(i) Corneal xerosis
(i) Night blindness
(iiiy Bitot’s spots
(iv) Conjunctival xerosis
Identify the correct sequence of appearance :
(A) @), (), (iid), () (B) (@), Gii), (iv), ()
() (i), (ib), (iv), () (D) (i), (iv), (i), (i)

35. The different phases of demographic cycle are :
(i)  Early expanding
(i) Late expanding
(iii) Low stationary
(iv) High stationary
Identify the correct sequence :
(A)  (iv), (i), (iii), (ii) (B) (iv), (i), (ii), ()
() (o), (), (i), (iid) (D) (), Gi), (i), (i)

36. Identify correct descending order of content of Vitamin C in the following fruits
(per 100 gms) :

(A) Amla, Lime, Orange, Guava (B) Amla, Guava, Lime, Orange
(C) Amla, Orange, Lime, Guava (D) Amla, Lime, Orange, Guava

37. Identify correct chronological sequence of the following committees :
(A) Bhore, Mukherji, Mudaliar, Shrivastav
(B) Bhore, Mudaliar, Shrivastav, Mukherji
(C) Bhore, Mukherji, Shrivastav, Mudaliar
(D) Bhore, Mudaliar, Mukherji, Shrivastav

38. Identify the correct hierarchical order (for referral services) in health care delivery
services :

(A) Sub Centre, Community Health Centre, Primary Health Centre
(B) Sub Centre, Primary Health Centre, Community Health Centre
(C) Primary Health Centre, Community Health Centre, Sub Centre
(D) Community Health Centre, Primary Health Centre, Sub Centre
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34. foafm © ) &1 fafafed w9 9 afafe 8 @ e
() HRFES ffag
(i) fT e
(iii) foreled sl
(iv) chorerEad fSRifEw
37eh TR Bl & Hal HH I FAd Fiford :
(A) (i), (iv), (iii), (i) (B) (i), (iii), (iv), (i)
Q) (i), (ii), (iv), (i) (D) (i), (iv), (i), (i)

35. SHEifeadt =% & fafiw vee €
(i) IR 9ER
(i) <H B =Tl JHR

(i) 1 e

(iv) =T TR

el B4 &1 e F1f :

(A) (i), (i), (1), (ii) B) (i), (iii), (i), (i)
(©) (), (), (@), (iii) (D) (i), (i), (i), (iii)

36. frfafEaa wai (ufd 100 79) & faerfdm €1 &1 7nn &1 ookt 9 § 1 <R F71 Ewq
GWE:
(A) AW, 71d, Haw, 37 (B) A, 3THES, ~1¢, Gl
(C) AW, |, =14, 3T (D) AW, =1, Haw, 39

37. frfafed sufedi o wet Hrosnitd 9 F1 fored F1f9 :
(A) 9R, g&sT, qeferar, $Tearda
(B) R, HEferaR, s1ardd, qes|
(C) ¥R, g1, £Tads, Hfaar
(D) 9, HEfer@r, g&s1, $Tarda

38. Ty UYL Hatel W Grwl/genel H SifHeRT €T oF HH F1 Wel forred F1fe
(A) TUHZ, AR TR s, Mfdd @R &3
B) Iz, TAfHe TR 67z, QIS TRy s
) TnefHeR TR &, W TR 6, S0k
D) WHRIfash s %7, Tofieh TR &7, IHE
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Questions 39 to 45 are matching items. This consists of two lists of statements, terms or
symbols and the candidate has to match an item in one list with an item in the other.

39.

(b)
()
(d)

40.

(a)

(b)

(B)
(©)

(D)

D —8107

List-1

Arthropod

Mosquito

Rat flea

Black fly

Tsetse fly

(a)

(iv)  (iii)
(i) (iv)

(b)

(i) (i)

(i)

(ii)

List-1

(o (@@
i) ()
(i) (i)
(iv) (i)
(iv) (i)

Heat exhaustion

Heat stroke

Heat cramps

Heat sycope

(a)
(i)

(iv)
(ii)
(ii)

(b)
(iv)
(i)
(i)
(i)

(c) (d)
(i) (i)
(i) (i)
(iii) (iv)
(iv) (i)

List-I1

Disease Transmitted
(i)  Sleeping sickness
(i) Onchocerciasis
(iii) Viral encephalitis

(iv) Bubonic plague

List-11

Working in an environment with high temperature,
lack of sweating

Body pain due to working in an environment with
high temperature

Prolonged exposure to heat resulting in fainting

Prolonged exposure to high temperature leading to
excessive sweating and circulatory failure

14



97 G&IT 39 T 45 T BT Gr= GHIerd F alel 76l G 81 399 sTBed), gal 31947 Taldl
g gaar &1 sregel @l Uk gE & Tl & TE 7S &1 R Gl 4 &1 TE 7 § GHfed i/

39. gar-1 gar-11
iz TR T
(a) TR () Traftn fasmag
(b) TEUET (i) STRIghfRaTEE

(c) I JoTg (iii) TR TTHHCTEH
(d) He T eI (iv) IR
(@ ) () @
(A) (o) @) (@) (i)
(B) (i) (iv) (i) (i)
(©) (i) @) (o) (i)
(D) @@ Gi) (iv) (i)

40. gar-1 gar-11
(a) T % FHNUT YR (i) S AIYHH o TETER0N § RIS, TEHT T M|
(b) TR TR (i) ST AUEH % JATER0 H HT B H INR H T |
(c) T H HRU AW AeT W (i) TET H < HHA T @A SR FeRTEY 98I &
S
(d) T R RO g (iv) =1 dI9HM % HROT <TE HHY deh @ § WRT €T

3T 3R &d HaTed ol TohT|
(@ b)) (© @)
A) & (o) ) (i)
(B) (v) () (i) (i)
© @ @ Gi) (iv)
D) @ @O (o) (i)
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41.

42.

List-1

Category of Personnel

Doctors (i)

Nurses (ii)
Health Worker (iii)
(Male and female)

Health Assistant (iv)
(Male and female)

(@ ) (© (@

(i) ()  (iv) (i)

@) () (@)  (iv)

(iv) (i) (i) (i)

@ (o) (@) (i)

List-1

Traits

Autosomal dominant @)

Autosomal recessive (if)
Recessive sex-linked (iii)
Dominant X-linked (iv)

(@ O () @
@iii) (iv) (i) (i)
@ () () (i)
@ @) (i) (iv)
(i) (i) (1) (1)

List-I1
Norms suggested
1 per 5,000 population

1 per 30,000 population in plains, 20,000 in
tribal/hilly areas

1 per 3,500 population

1 per 5,000 population in plains, 3,000 in
tribal/hilly areas

List-11

Diseases

Colour blindness

Vitamin D resistant rickets
ABO blood group

Cystic fibrosis
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41. gar-1 gar-11

FHERt & vt Q31T TT [rE

(a) SfEX () 9fd 5,000 ¥ 7T % faT Tw

(b) (i) Tfd 30,000 STMERT (HSM) & fT T, 20,000 ST/

TeIeT &GN H

(c) ¥oIrEey Tkt (iii) 9fd 3,500 F1 eTERT % foaw ww
(q&w e Hfee)

(d) YA GRS (iv) IR 5,000 FT STeET (FEF) F, 3,000 SR/ TRIET
(& To Hfge) TR § Th

@ ® © @
A) G () (o) (i)
B) G i) () (iv)
© G () i) @)
D) & (o) Gi) (i)

42. gar-1 gar-11

fasiaa T

(a) STEEMS ifH+E (i) = e

(b) SEEMA REfye (i) T €1 Auw Rfwed

() FRafgs geg fdske (i) TsT.3lL woeyy

(d) siffHe tag-fawe  (iv) fadfes wEaRifad
(@ B () @

(A) (i) (v) (@) (i)

B) () (v) (i) (i)

© (@) @ Gi) (iv)

(D) (iv) (i) () (1)
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43.

(A)

(B)
(©
(D)

44.

(b)
(©)
(d)

(A)
(B)
(©)

45.

(b)

List-1 List-I1
Disease Screening Test
Anaemia (i) Blood pressure
Hypertension (i) Blood glucose
Syphilis (iii) Haemoglobin
Diabetes (iv) VDRL

(@ B (o (@)

(i) (i) ()  (iv)

@ @ (i) (iv)

(i) (1) (iv) (i)

@ (@) (o) (i)

List-1 List-11

DPT Vaccine (i) Polyvalent vaccine
Oral Polio Vaccine (i) Mixed vaccine

Measles Vaccine

(iii) Toxoid vaccine

DT Vaccine (iv) Live vaccine

(@ B (o (@

i) (iv) () (i)

(i) (iv) (i) (i)

(iv) (i) (i) (i)

(i) () (o) (i)

List-1 List-11

Causative Agent Disease

Treponema pallidum (i) Granuloma inguinale
Haemophilus ducreyi (ii)  Syphilis

Donovania granulomatosis (iii) Condyloma acuminata
Human papilloma virus (iv) Chancroid

(@ () (o (@

(i) @) (iv) (i)

@ (i) (iv) (i)

(i) (o) (1) (i)

(iv) (i) (i) (i)
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43. gar-1 gar-11

T TR
(a)  STIfHAT (i) S YR
(b) = WA (i) <IS TTRM
() fawfag (iif) BHFA
(d) HYHE (iv) STELeIR.Td.

(@ @ (© @
(A) (i) (1) (1) (iv)
By @Gi) @) @Gi) (iv)
(C) (@Gi) () (o) (i)
(D) @) @Gi) (o) (i)

44, gar-1 gar-11
(a) T dEEH (i) difereeie S9ET
(b) 3R Wiferal deaE (i) THege I
(c) THUIdTEH (i) 2TEHIEE daE™
(d) <131 dEEH (iv) Ed SaEH

(@ (b (© @

(A) () (o) (i) (i)
(B) @) (o) (i) (@)
(©) (o) @) (@) (i)
(D) Gi) () (o) (i)
45. gar-1 gar-11
(a) YU et (i) el g
(b) I ghEE (i) Feofera
(c) SHmEA TTAmRITH (iii) RIS TIGFHART
() T T arERE (iv) YwTFE

@ ® © @
A) ) @ (o) (i)
B @ ) (o) (i)
© (i) (o) @ (i)
(D) (i) (i) i) ()
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46.

Read the passage below, and answer the 5 questions that follow on your understanding
of the passage :

India came very close to eradicating polio in 2005 when only 66 cases were
confirmed in the country. While the polio outbreak in 2006 was a setback to the
programme, this outbreak was smaller than the 2002 outbreak. As of 19th January
2007, 655 cases of virologically confirmed polio were reported from the country with
onset of paralysis in 2006. Of these, 634 are of polio type 1 and 21 due to polio type 3.
A large number of polio type 1 cases (76% of the 437 type 1 viruses sequenced to date)
in West U.P. are of a single genetic group which spread from Moradabad and
surrounding districts and infected much of West U.P., parts of Central Eastern U.P.
and some districts in neighbouring states. Seventeen percent cases are from a second
genetic group that originated in endemic districts of North Central Bihar and spread to
several other districts of Bihar and Eastern U.P. Type 3 WPV though continued to
circulated in 2006, but remained localized to only five districts in and around
Moradabad.

The unexpected turn of events during 2006, which saw resurgence of wild polio
cases in traditional endemic regions of Western Uttar Pradesh and Bihar, has shaken
confidence of many partners engaged in polio eradication initiative in the country.
Doubts are raised by different quarters on the effectiveness and efficacy of the vaccine.
A thorough dispassionate analysis of the reasons would reveal that the real reasons for
having yet another outbreak despite using a more potent vaccine (monovalent-OPV)
were not related to poor strategy but lack of proper implementation of it at the grass
root level. Broadly, they can be clubbed into two sub-heads :

(i) Poor performance of SIAs in highly endemic districts (especially in Moradabad
division) during later half of 2005 and early of 2006.

(ii) Sub-optimal efficacy of t OPV in western U.P.

The former was the main factor that allowed formation of reasonably significant
pool of poorly immunized children that not only facilitated smooth viral transmission
from Moradabad division to rest of other districts of Western U.P. but also to the Central
and Eastern U.P. The genetic analysis also confirms rapid spread of a single PI cluster
to cause widespread paralysis within a short span of few months. This gap in
vaccination coverage also indirectly undermined the efficacy of OPV. Peculiar
environmental and socio-demographic milieu of Western U.P. (high population density,
high birth rate, poor sanitation, etc.) coupled with poor SIAs performance with
consequent low coverage made the task of OPV even more daunting in these areas.
Falsification of data and fierce resistance by the minority community in Western U.P.
further contributed to poor coverage in key districts having a very high force of type-1
polio virus.

Which of the following statement is true ?

(A) India came very close to polio eradication in 2005
(B) India came very close to polio eradication in 2004
(C) India came very close to polio eradication in 2003

(D) India came very close to polio eradication in 2002
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46.

Ater @ uR=ese &1 g 3iiT 379H1 GHET & ST @ 5 U91 & 3Ta -

AR 2005 H GIferdl I o foeiehel il g o1 Sid o1 W H 54k shadd 66 T U |
2006 ® dietel & Her W 39 HRIEHH S THAM g TR UIfadl 61 I8 I 2002 & T
YA o111 19 SHERT 2007 Gk <31 9 TIferall & IrRd qre AR 71 =1 uid g 54 14
T 3T 2006 H TREY §3T| S0 H 634 1 GIfetdl 299 1 iR 21 1 Wiferll 289 3 & HRT gaTl
o1 R Y H il 2ed 1 % WHell § (437 289 1 % ATARE! o 76% S T1agud |
T fAfv=d foran 71 §) T 1 T & 1A TR 1 A § S RER § R w IS 6
ool o Uhet T fe it TR Uew, R IET IR UeW SR F USrET TSAl i G
H fean 17 gfded wamed fgeia oFafies @98 % R0 g e Iy -7 foRr
wefher fSesl 9 gam SR R forR & =3 fSiesl it o1 S 99 ¥ e a1 2Ry 3
Ty, 1.2, Ff 2006 T Hell 1 HR I RIS o 3a-11Ta o qi= fSiesl 7o €ifHa @il

2006 H ¥ & eeTufe uftads & wrvl, fHEd ufert TR W SR faer &
JRYfe T &R H aigee Wifel % HIet OA: e §U €, <9 H Uiferl e FRi%H &
% Jelieh W IGRI o fovard ol smersi 1 fafst S0 g S1oHTE 18 WFifd & uwret 8H 3K
I & STERER T o Frel-4 § YfehTT <Iad F18 | RO hT I8 TITeror 37 & a1 =i
for ST vod 99 T (HFeRi-3.T1ET. ) o TAN T TR ¢TI 1 SERT FA 1 BRI gaa
ORI 7T @11 59k T 36 hEishH okl JUiel T W I €1 | AN 7 1 TERT 911 38
T 31 H-E % 3Tavd Tl 5T Hehell B |
(i) 2005 % faser 318 AR 2006 % URENE 9§ I=1 Uefen &6l favreaan ek qvea

T TH.3TR.T, 1 &R FvIed = @i
(i) OR=FY IR YW H T TET. %1 3fad | FH TORRRT BT

3OH § goH HEd HRO1 o e saaie gfaifard et 99, Sl genedaan geeayul o, o
e =8 9 99 7 qUSTEE Ared ¥ UfiErt IR Ue¥ o oFd e’ § 6k arvd o S
Sl Ferel WES €1 T o U, 36 Yo T IT Ua¥l ok gl faan | sHeR Sa ek fagetour 9§
¥ =g gfte BT ¢ o, AT Y 1 R % O T W e O RV $ WA o 310U WA H ¥ ST
M FT AT H 9t gfg g8 T TR hads 139 HET A ST, F T UERIRGT i SueHaT
71 w7 foam| it R TR W STYE YAfRU SR HHEIeh SAHifeast I 3= SIHEE
AT, I SH L, TSdl F1 HET SAfE, AR TH.STE.U, o ¥ hHRl- TG o SR <TRTR
I HH FHALS gs Ty ALY 1 HE 3 &E § IR ¢ FARIgul B T R/R YS h
STCYHEIHI R 3Tihe] hl BAM IR ¥ 1907 faiegr & 37 &rif 5 ¥ 1907 ol o 218 1 amerd
F1 aR 21, 9 7 el § %8 e 8F | ST AFEH STl § |

frfafed § 9 S weF e 82

(A) E7 2005 H 9Rd Yiferall SHA % =gd ke 311 <ot o1
(B) ET 2004 H YRd UIfeTall SHH o =gd ke 311 gt o1
(C) §7 2003 | 9Rd Yiferall SHH o =gd ke 311 gt o1
(D) §7 2002 H 9Rd Yiferall SHA % =gd ke 311 <ot o1

D —8107 21 P.T.O.



47. According to the author the real reasons for the 2006 outbreak were :

(@)

(i)
(ii)
(A)

Poor performance of SIAs in highly endemic districts

Efficacy of t OPV is greater than mOPV 1

Suboptimal efficacy of tOPV in western U.P.

(i) and (ii) (B) (i) and (iii) (C) (iii) and (ii) (D) only (i)

48. Match the year and the type of polio virus with the number of polio cases.

(a)
(b)
()
(d)

2005 i 21
2006 total (i) 634
2006 type 1 (iii)) 66
2006 type 3 (iv) 655

(@ ) (© @
(iv) (@) (1) (i)
@ () (@) (i)
(i) (iv) (1) (i)

i) @)  (iv) (i)

49. Identify the correct statements :

(i)
(i)
(iif)

(iv)

The type 1 virus did not spread from Moradabad to Central Eastern U.P.
Type 3 WPV remained localized to only 5 districts in and around Moradabad

The genetic analysis also confirmed that a single P1 cluster did not lead to rapid
spread

2006 saw resurgence of wild polio cases in traditional endemic regions of Western
U.P. and Bihar.

(i) and (i) (B) (i) and (ii) (C) only (iv) (D) (i) and (iv)

50. The author is primarily concerned with :

(A)
(B)
(©)
(D)

D —8107

Epidemiological analysis of polio cases in 2006
Efficacy of IPV and OPV
Analysis of the polio control programme

Reasons for spread of WPV in Southern Indian States

-00o0-
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47.

48.

49.

50.

@ h TR FH 2006 H HRMNT o Tl HROT &

()

(i)
(ii)
(A)

= e el ¥ TH.eTE. U, &1 W e

G Rz A s A A B e 2 e e el e M s A A )

YT IR Y9 H T.30TEY. W 2fua 9w it

(i) R (ii) (B) (i) 3R (i) (C)  (iif) R (ii) (D) e (i)

Y o YifeTall aRRE o YRR i Uiferal o Tihel o d1ef Foferd &

(a)
(b)
(©)
(d)

(A)
(B)
(©
(D)

2005 i 21
2006 (Fet) (i) 634
2006 2ET 1 (iii) 66
2006 T 3 @v) 655
(@ ) (¢ (@)
(i) (i) (1) (i)
i) (o) (@§) (i)
(iir) (iv) (i) (i)
Gi) @) (v) (i)

T A F1 Ie9H Fifed ¢

(i)

(i)
(ii)
(iv)

(A)

(A)

(B)
(©)

TR 1 T RER § 7 gol IR IS H AT el o

IMEY 3 oo T1.E . HURTSNE Tl THeR SEUE o uid el # €1fHa o

STenf-ereh fogeiwor 36 o &1 qf¥ o € T, ofehant ©1 1 |9E 719 fd | T el
T 2006 ¥ 9fvErT I IR 9 foRR o qrvufies Tiefhek & # ace uiferdr & Amal
Rl GAYITEA |

(i) 3R (iii) (B) (i) 3R (ii) (C) A (iv) (D) (i) 3R (iv)

T A fREd qEad: TSR @1 Q2

T 2006 U Gifad o AN o1 weiferers tohal fagers o
ME.TLEY. F LTS, 1 Ukl
uifear T wrRssg &1 fageryo

(D) <fRUT vRA % WAl § ey t1ET. 1 e o R
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